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2010 Milking Shorthorn Cluster Analysis using Ward Method
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Cluster Order
5
1
10
12
2
14
4
7
9
8
13
3
20
16
15
11
18
21
6
19
17




Between Clusters
N Mean Variance

160 0.0124 0.0022

Within Cluster

N Mean # Bulls in Repository
Cluster 1 9 0.20289 1
Cluster 2 4 0.47916
Cluster 3 8 0.24187 3
Cluster 4 10 0.16733 6
Cluster 5 5 0.41915
Cluster 6 4 0.17916 1
Cluster 7 6 0.31627 2
Cluster 8 5 0.21465 1
Cluster 9 3 0.42965
Cluster 10 4 0.39648 1
Cluster 11 4 0.21538
Cluster 12 4 0.36421
Cluster 13 12 0.09933 4
Cluster 14 8 0.15627 4
Cluster 15 3 0.41667 1
Cluster 16 3 0.41667
Cluster 17 2 0.50000
Cluster 18 4 0.17712
Cluster 19 2 0.50000
Cluster 20 2 0.50000
Cluster 21 13 0.04520 8
Cluster 22 45 0.00103 11




1 2 3 4 5 6 7
0.203| 0.001 0.000 0.001 0.153 0.000 0.039
0.014 0.028 0.000 0.008 0.010

0.015 0.000 0.001 0.052

0.167]| 0.000 0.000 0.009

8
0.012
0.020
0.003

9
0.003
0.021
0.001

10
0.000
0.067
0.019

11
0.000
0.003
0.003

12
0.000
0.084
0.012

13
0.010
0.013
0.003
0.033
0.016
0.000
0.041
0.059
0.035
0.001
0.006
0.009

0.099

0.000
0.149
0.016
0.002
0.000
0.007
0.009
0.003
0.009
0.063
0.000
0.074
0.002

0.156

15
0.001
0.003
0.002
0.026
0.003
0.000
0.012
0.019
0.004
0.000
0.002
0.000
0.008

16
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000

17
0.002
0.003
0.001
0.010
0.005
0.000
0.013
0.033
0.021
0.000
0.002
0.000
0.025

18
0.003
0.001
0.000
0.002
0.007
0.000
0.018
0.036
0.019
0.000
0.000
0.000
0.022

19
0.028
0.000
0.000
0.000
0.018
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000

0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000

21
0.000
0.043
0.038
0.001
0.000
0.002
0.010
0.001
0.003
0.070
0.005
0.030
0.001

22
0.002
0.001
0.002
0.003
0.002
0.000
0.001
0.005
0.001
0.000
0.000
0.002
0.003
0.002
0.001
0.000
0.001
0.001
0.001
0.001
0.001

0.001




